
©  2015 2016    
 

 

    
11  

15  2016   
 10301 
 

: _________________________________  ______ 
 

 
    

 
      3  (180 ).  
   ,    40 . 

 1  35    ,    26  
(1 26)     9  (27 35)   

.          
  (   ).     

     . 
 2  5  (36 40)   , 

  .  
      . 

    ,       
   . 

     ,    .  
   ,     , 

   .        
 ,      . 

       
   . . ;   

,     ;    
 (     ),    

. 
,     , . 

         
 . 

 
 !

 

. 11 .  10301 2

©  2015 2016    
 

 
 1 

 

   1–23     
.        . 

 

 
 
 

 
 

      5 .  
     ? 

 

 
 
 

1) 
 

5 

 

 

2) 
 

7 

 

 

3) 
 

11 

 

 

4) 
 

25 

 

 

:  

 
 
 

 
 

         

 

 
 
 

1) 
 

   

 

 

3) 
 

   

 
 

2) 
 

  

 

 

4) 
 

   

 

 

:  

 
 
 

 
 

      

 

 
 
 

1) 
 

 

 

 

3) 
 

 

 
 

2) 
 

 

 

 

4) 
 

 

 

 

:  

 
 
 

 
 

        +4? 

 

 
 
 

1) 
 

NaHSO3 

 

 

2) 
 

CHCl3 

 

 

3) 
 

HCOOH 

 

 

4) 
 

SO2Cl2 

 

 

:  

 
 
 

 
 

      ? 

 

 
 
 

1) 
 

 

 

 

3) 
 

 (I) 

 
 

2) 
 

 (IV) 

 

 

4) 
 

  

 

 

:  

 

1 
 

2 
 

3 
 

4 
 

5 
 



. 11 .  10301 3

©  2015 2016    
 

 
 
 

 
 

      .   
 ,    . 

 

 
 
 

1) 
 

HNO3 

 

 

4) 
 

H2O 

 
 

2) 
 

H2C2O4 

 

 

5) 
 

C6H4(COOH)2 

 
 

3) 
 

H2S 

 

 

6) 
 

CaH2 

 

 

:    

 
 
 

 
 

      ? 
A.         . 

.      . 

 

 
 
 

1) 
 

   

 

 

3) 
 

   

 
 

2) 
 

   

 

 

4) 
 

   

 

 

:  

 
 
 

 
 

       ? 

 

 
 
 

1) 
 

SO3 

 

 

2) 
 

Al2O3 

 

 

3) 
 

SiO2 

 

 

4) 
 

P2O3 

 

 

:  

 
 
 

 
 

        ,   -
 ? 

 

 
 
 

1) 
 

Si 

 

 

2) 
 

Zn 

 

 

3) 
 

Mg 

 

 

4) 
 

Br2 

 

 

:  

 
 
 

 
 

        .   

 

 
 
 

1) 
 

Na2S 

 

 

2) 
 

NH4Br 

 

 

3) 
 

K2SiO3 

 

 

4) 
 

Cu(NO3)2 

 

 

:  

 

6 
 

7 
 

8 
 

9 
 

10 
 

. 11 .  10301 4

©  2015 2016    
 

 
 
 

 
 

  X  Y   : 
Cu X  Cu(NO3)2 Y  Cu(OH)2 

     . 

 

 
 
 

1) 
 

H2O 

 
 

2) 
 

Al(OH)3 

 
 

3) 
 

Ba(OH)2 

 
 

4) 
 

Fe(NO3)2 

 
 

5) 
 

AgNO3 

 

 
 

: X Y 
  

 
 
 

 
 

       sp2-   ? 

 

 
 
 

1) 
 

 

 

 

3) 
 

  

 
 

2) 
 

-1 

 

 

4) 
 

 

 

 

:  
 
 
 

 
 

        
   

 

 
 
 

1) 
 

 

 

 

2) 
 

-1 

 

 

3) 
 

-2 

 

 

4) 
 

 

 

 

:  
 
 
 

 
 

   

 

 
 
 

1) 
 

NaOH( - ) 

 

 

2) 
 

CO2 

 

 

3) 
 

HNO3 

 

 

4) 
 

CH4 

 

 

:  
 
 
 

 
 

    

 

 
 
 

1) 
 

 

 

 

3) 
 

  

 
 

2) 
 

 

 

 

4) 
 

 

 

 

:  

 

11 
 

12 
 

13 
 

14 
 

15 
 



. 11 .  10301 5

©  2015 2016    
 

 
 
 

 
 

     

 

 
 
 

1) 
 

  H2O 

 

 

3) 
 

-2  H2SO4( .) 

 
 

2) 
 

-1  K2Cr2O7(H+) 

 

 

4) 
 

  O2 

 

 

:  

 
 
 

 
 

       

 

 
 
 

1) 
 

AlCl3 

 

 

2) 
 

KOH 

 

 

3) 
 

NH3 

 

 

4) 
 

Na2CO3 

 

 

:  

 
 
 

 
 

  X  Y   : 
CH3Cl X  C6H5CH3 Y  C6H5COOH 

     . 

 

 
 
 

1) 
 

H2O 

 
 

2) 
 

KOH 

 
 

3) 
 

KMnO4(H+) 

 
 

4) 
 

C6H6 

 
 

5) 
 

C7H16 

 

 
 

: X Y 
  

 
 
 

 
 

Cl2      

 

 
 
 

1) 
 

H2 

 

 

2) 
 

Cu 

 

 

3) 
 

HI 

 

 

4) 
 

KOH 

 

 

:  

 
 
 

 
 

        

 

 
 
 

1) 
 

  

 

 

3) 
 

   

 
 

2) 
 

 

 

 

4) 
 

  

 

 

:  

 

16 
 

17 
 

18 
 

19 
 

20 
 

. 11 .  10301 6

©  2015 2016    
 

 
 
 

 
 

   Cu2+ + 2OH– = Cu(OH)2  -
  

 

 
 
 

1) 
 

CuF2  KOH 

 

 

3) 
 

CuS  NaOH 

 
 

2) 
 

CuSO4  Ba(OH)2 

 

 

4) 
 

CuCl2  NH3 

 

 

:  

 
 
 

 
 

    

 

 
 
 

1) 
 

  

 
 

2) 
 

  

 
 

3) 
 

   

 
 

4) 
 

  

 

 

:  

 
 
 

 
 

     ? 
.  –    . 
.    – . 

 

 
 
 

1) 
 

   

 

 

3) 
 

   

 
 

2) 
 

   

 

 

4) 
 

   

 

 

:  

 
 
 

 
 

 200  10 %-      25   -
 .       -

 .        . 

 

 

 
: ___________________________. 

 
 
 

 
 

   48   (III)   
 256,2  .     

Fe2O3 + 2Al = 2Fe + Al2O3 (     Fe2O3) 
    (      

  ). 

 

 
 

: ___________________________. 

21 
 

22 
 

23 
 

24 
 

25 
 



. 11 .  10301 7

©  2015 2016    
 

 
 
 

 
 

         
(II)  3,36  (    . .).   -
  (  ).      . 

 

 

 
: ___________________________. 

 
 

  27–35       
        

   .     
. 

 

 
 
 

 
 

       -
 ,    . 

 

 
 

     
 

) 
 

SiO2 

 
 

) 
 

K2O 

 
 

) 
 

NH4Cl 

 
 

) 
 

Ca(H2PO4)2 

  

 
 

1) 
 

 

 
 

2) 
 

  

 
 

3) 
 

  

 
 

4) 
 

  

 
 

5) 
 

  

 

 

: 
    

    

 
 
 

 
 

    -  
    - . 

 

 
 

     
 

 

) 
 

PbS + H2O2  PbSO4 + H2O 

 
 

) 
 

NO2 + H2O  HNO3 + HNO2 

 
 

) 
 

P2O5 + C  P + CO 

 
 

) 
 

KMnO4  K2MnO4 + MnO2 + O2 

  

 
 

1) 
 

–2 

 
 

2) 
 

–1 

 
 

3) 
 

0 

 
 

4) 
 

+4 

  

 

: 
    

    

 

26 
 

27 
 

28 
 

. 11 .  10301 8

©  2015 2016    
 

 
 
 

 
 

      , -
        . 

 

 
 

      
 

) 
 

KOH 

 
 

) 
 

AlCl3 

 
 

) 
 

NaF 

 
 

) 
 

H2SO4 

  

 
 

1) 
 

H2 

 
 

2) 
 

O2 

 
 

3) 
 

Cl2 

 
 

4) 
 

F2 

 
 

5) 
 

HCl 

 
 

6) 
 

SO2 

 
 

: 
    

    
 
 
 

 
 

         -
. 

 

 
 

      
 

) 
 

KClO3 

 
 

) 
 

NH4Br 

 
 

) 
 

Fe(CH3COO)3 

 
 

) 
 

Ca3(PO4)2 

  

 
 

1) 
 

  

 
 

2) 
 

   

 
 

3) 
 

   

 
 

4) 
 

   ,    

 

 

: 
    

    
 
 
 

 
 

       
 ,      . 

 

 
 

   

, 
 

 
   

 
 

) 
 

CaCO3( )  aO( ) + CO2( ) – Q 

 
 

) 
 

O( ) + 2H2( )  CH3OH( ) + Q 

 
 

) 
 

CH4( ) + H2O( )  O( ) + 3H2( ) – Q 

 
 

) 
 

2NO2( )  N2O4( ) + Q 

  

 
 

1) 
 

,  
 

 
 

2) 
 

,  
 

 
 

3) 
 

,  
 

 

 

: 
    

    

 

29 
 

30 
 

31 
 



. 11 .  10301 9

©  2015 2016    
 

 
 
 

 
 

      ,   
    . 

 

 
 

    
 

) 
 

SiO2 

 
 

) 
 

AlBr3 

 
 

) 
 

CuO 

 
 

) 
 

HCl 

  

 
 

1) 
 

NaOH, AgNO3, Cl2 

 
 

2) 
 

O2, CO2, H2SO4 

 
 

3) 
 

KOH, CaO, HF 

 
 

4) 
 

Al(OH)3, NaHCO3, MgO 

 
 

5) 
 

H2, HNO3, CO 

 

 

: 
    

    

 
 
 

 
 

      ,   
   . 

 

 
 

    
 

) 
 

C2H2, C2H4 

 
 

) 
 

C2H4, C2H6 

 
 

) 
 

C3H7OH, C2H5COOH 

 
 

) 
 

CH4, CO2 

  

 
 

1) 
 

NaHCO3 

 
 

2) 
 

Ag2O(NH3) 

 
 

3) 
 

 

 
 

4) 
 

Br2(H2O) 

 
 

5) 
 

Ca(OH)2 

 

 

: 
    

    

 

32 
 

33 
 

. 11 .  10301 10

©  2015 2016    
 

 
 
 

 
 

      , 
      . 

 

 
 

     
 

 

) 
 

C6H5CH3 + Br2(  ) 

 
 

) 
 

C6H5CH3 + Br2(Fe) 

 
 

) 
 

CH3CH=CH2 + H2O 

 
 

) 
 

CH3CH2CH2Cl + KOH( .) 

  

 
 

1) 
 

CH3C CH 

 
 

2) 
 

CH3CH2CH2OH 

 
 

3) 
 

 
 

 

4) 
 

CH3CH(OH)CH3 

 
 

5) 
 

 
 

 

6) 
 

 
 

 

: 
    

    

 
 
 

 
 

       
  . 

 

 
 

     
 

 

) 
 

CH3CH=O + Ag2O(NH3) 

 
 

) 
 

C2H5OH + H2SO4( .) 

 
 

) 
 

C6H5COONa + NaOH( , .) 

 
 

) 
 

C6H5OH + NaOH 

  

 
 

1) 
 

CH3COOH 

 
 

2) 
 

C2H6 

 
 

3) 
 

C2H5OC2H5 

 
 

4) 
 

C6H6 

 
 

5) 
 

C6H5ONa 

 
 

6) 
 

CH3COONH4 

 
 

: 
    

    

 

34 
 

35 
 



. 11 . 10301 11

©  2015−2016 

 2
 (36−40) -

.  (36, 37 . .),  – 
. . 

, : 
MnO2 + O2 + … = K2MnO4 + … 

.

. 
, 

. 

. 
. 

.

, 
: 

HBr⎯⎯⎯→  X1
KCN⎯⎯⎯⎯→  X2 2H O, HCl⎯⎯⎯⎯⎯→  X3 2 5

2 4

C H OH
H SO

⎯⎯⎯⎯⎯→  X4  

X4 → 2-
.

 3,21 . 

 1,008  ( . .) . 
 (  %) .

 26,5  30,2 -
.  80 %, 
. , 

.

36

37

38

39

40



©  2015 2016    
 

 

    
11  

15  2016   
 10302 
 

: _________________________________  ______ 
 

 
    

 
      3  (180 ).  
   ,    40 . 

 1  35    ,    26  
(1 26)     9  (27 35)   

.          
  (   ).     

     . 
 2  5  (36 40)   , 

  .  
      . 

    ,       
   . 

     ,    .  
   ,     , 

   .        
 ,      . 

       
   . . ;   

,     ;    
 (     ),    

. 
,     , . 

         
 . 

 
 !

 

. 11 .  10302 2

©  2015 2016    
 

 
 1 

 

   1–23     
.        . 

 

 
 
 

 
 

      6 .  
     ? 

 

 
 
 

1) 
 

6 

 

 

2) 
 

10 

 

 

3) 
 

16 

 

 

4) 
 

36 

 

 

:  
 
 
 

 
 

         
 

 

 
 
 

1) 
 

  

 
 

2) 
 

  

 
 

3) 
 

  

 
 

4) 
 

   

 

 

:  
 
 
 

 
 

       ? 

 

 
 
 

1) 
 

 

 

 

3) 
 

 

 
 

2) 
 

 

 

 

4) 
 

 

 

 

:  
 
 
 

 
 

        +3? 

 

 
 
 

1) 
 

Ca(NO2)2 

 

 

2) 
 

POCl3 

 

 

3) 
 

NH4Cl 

 

 

4) 
 

Ca3(PO4)2 

 

 

:  
 
 
 

 
 

      ? 

 

 
 
 

1) 
 

 (VI) 

 

 

3) 
 

 

 
 

2) 
 

  

 

 

4) 
 

  

 

 

:  

 

1 
 

2 
 

3 
 

4 
 

5 
 



. 11 .  10302 3

©  2015 2016    
 

 
 
 

 
 

      .   
 ,    . 

 

 
 
 

1) 
 

HF 

 

 

4) 
 

C6H5OH 

 
 

2) 
 

NaH 

 

 

5) 
 

HClO4 

 
 

3) 
 

H3PO4 

 

 

6) 
 

PH3 

 

 

:    

 
 
 

 
 

      ? 
A.      . 

.       . 

 

 
 
 

1) 
 

   

 

 

3) 
 

   

 
 

2) 
 

   

 

 

4) 
 

   

 

 

:  

 
 
 

 
 

       ? 

 

 
 
 

1) 
 

SiO2 

 

 

2) 
 

CO 

 

 

3) 
 

N2O 

 

 

4) 
 

Fe2O3 

 

 

:  

 
 
 

 
 

        ,   
 ? 

 

 
 
 

1) 
 

SO2 

 

 

2) 
 

Zn(OH)2 

 

 

3) 
 

MgSO4 

 

 

4) 
 

CaCO3 

 

 

:  

 
 
 

 
 

          
.   

 

 
 
 

1) 
 

Al(NO3)3 

 

 

2) 
 

FeCl3 

 

 

3) 
 

Na2CO3 

 

 

4) 
 

(NH4)2SO4 

 

 

:  

 

6 
 

7 
 

8 
 

9 
 

10 
 

. 11 .  10302 4

©  2015 2016    
 

 
 
 

 
 

  X  Y   : 
S X  SO2 Y  CaSO3 

     . 

 

 
 
 

1) 
 

H2S 

 
 

2) 
 

NaOH 

 
 

3) 
 

CaCl2 

 
 

4) 
 

H2SO4 

 
 

5) 
 

Ca(OH)2 

 

 
 

: X Y 
  

 
 
 

 
 

       sp3-   ? 

 

 
 
 

1) 
 

 

 

 

3) 
 

-2 

 
 

2) 
 

 

 

 

4) 
 

  

 

 

:  
 
 
 

 
 

        
   

 

 
 
 

1) 
 

 

 

 

3) 
 

-2 

 
 

2) 
 

-1,3 

 

 

4) 
 

 

 

 

:  
 
 
 

 
 

      

 

 
 
 

1) 
 

NH3 

 

 

2) 
 

HCl 

 

 

3) 
 

HNO3 

 

 

4) 
 

CH4 

 

 

:  
 
 
 

 
 

    

 

 
 
 

1) 
 

 

 

 

3) 
 

 

 
 

2) 
 

 

 

 

4) 
 

  

 

 

:  

 

11 
 

12 
 

13 
 

14 
 

15 
 



. 11 .  10302 5

©  2015 2016    
 

 
 
 

 
 

     

 

 
 
 

1) 
 

  H2 

 
 

2) 
 

1,1-   KOH( . - ) 

 
 

3) 
 

  O2 

 
 

4) 
 

  H2SO4( .) 

 

 

:  

 
 
 

 
 

       

 

 
 
 

1) 
 

FeCl3 

 

 

2) 
 

Na3PO4 

 

 

3) 
 

NaOH 

 

 

4) 
 

C2H6 

 

 

:  

 
 
 

 
 

  X  Y   : 
C6H5CH2CH3 X  C6H5COOK Y  C6H6 

     . 

 

 
 
 

1) 
 

KOH 

 
 

2) 
 

Cu(OH)2 

 
 

3) 
 

KMnO4(H2O) 

 
 

4) 
 

KMnO4(H2SO4) 

 
 

5) 
 

H2 

 

 
 

: X Y 
  

 
 
 

 
 

Al2O3      

 

 
 
 

1) 
 

H2 

 

 

2) 
 

HCl 

 

 

3) 
 

CaO 

 

 

4) 
 

KOH 

 

 

:  

 
 
 

 
 

        

 

 
 
 

1) 
 

  

 

 

3) 
 

   

 
 

2) 
 

 

 

 

4) 
 

  

 

 

:  

 

16 
 

17 
 

18 
 

19 
 

20 
 

. 11 .  10302 6

©  2015 2016    
 

 
 
 

 
 

   CO3
2– + 2H+ = CO2 + H2O  

  

 

 
 
 

1) 
 

CaCO3  HCl 

 

 

3) 
 

NaHCO3  H3PO4 

 
 

2) 
 

K2CO3  H2S 

 

 

4) 
 

(NH4)2CO3  HNO3 

 

 

:  
 
 
 

 
 

     

 

 
 
 

1) 
 

 

 

 

3) 
 

  

 
 

2) 
 

   

 

 

4) 
 

  

 

 

:  
 
 
 

 
 

     ? 
.   –  . 
.    – , . .   

  . 

 

 
 
 

1) 
 

   

 

 

3) 
 

   

 
 

2) 
 

   

 

 

4) 
 

   

 

 

:  
 
 
 

 
 

 300  10 %-      60   
 .      

  .        . 

 

 
 

: ___________________________. 
 
 
 

 
 

    (II)   
 41,4     4,4  .  

  PbO + H2 = Pb + H2O (     PbO).   
  (        

). 

 

 
 

: ___________________________. 
 
 
 

 
 

         
 38,0 .    (    . .)   

?      . 

 

 
 

: ___________________________. 

21 
 

22 
 

23 
 

24 
 

25 
 

26 
 



. 11 .  10302 7

©  2015 2016    
 

 
 

  27–35       -
         

  .     . 
 

 
 
 

 
 

       
 ,    . 

 

 
 

     
 

) 
 

CuOHCl 

 
 

) 
 

P2O3 

 
 

) 
 

BaO 

 
 

) 
 

(NH4)2S 

  

 
 

1) 
 

 

 
 

2) 
 

  

 
 

3) 
 

  

 
 

4) 
 

  

 
 

5) 
 

  

 
 

: 
    

    
 
 
 

 
 

    -  
    - . 

 

 
 

     
 

 

) 
 

NH4NO2  N2 + H2O 

 
 

) 
 

PbS + H2O2  PbSO4 + H2O 

 
 

) 
 

MnO2 + HBr  MnBr2 + Br2 + H2O 

 
 

) 
 

H2S + SO2  S + H2O 

  

 
 

1) 
 

–2 

 
 

2) 
 

–1 

 
 

3) 
 

+3 

 
 

4) 
 

+4 

  

 

: 
    

    
 
 
 

 
 

      , -
       . 

 

 
 

      
 

) 
 

AgNO3 

 
 

) 
 

NaCl 

 
 

) 
 

Cu(NO3)2 

 
 

) 
 

NaOH 

  

 
 

1) 
 

H2 

 
 

2) 
 

O2 

 
 

3) 
 

Cl2 

 
 

4) 
 

Cu 

 
 

5) 
 

Na 

 
 

6) 
 

Ag 

 
 

: 
    

    

 

27 
 

28 
 

29 
 

. 11 .  10302 8

©  2015 2016    
 

 
 
 

 
 

         . 

 

 
 

      
 

) 
 

K2S 

 
 

) 
 

(NH4)3PO4 

 
 

) 
 

Al(NO3)3 

 
 

) 
 

K2Cr2O7 

  

 
 

1) 
 

  

 
 

2) 
 

   

 
 

3) 
 

   

 
 

4) 
 

   ,    

 

 

: 
    

    
 
 
 

 
 

       
 ,      . 

 

 
 

   

, 
 

  
   

 

) 
 

2NH3( )  N2( ) + 3H2( ) – Q 

 
 

) 
 

2H2( ) + H2( )  C2H4( ) + Q 

 
 

) 
 

2H4( ) + H2O( )  C2H5OH( ) + Q 

 
 

) 
 

2SO3( )  2SO2( ) + O2( ) – Q 

  

 
 

1) 
 

,  
 

 
 

2) 
 

,  
  

 
 

3) 
 

,  
 

 
 

: 
    

    

 
 
 

 
 

      ,   
    . 

 

 
 

    
 

) 
 

H2S 

 
 

) 
 

NH3 

 
 

) 
 

Al2O3 

 
 

) 
 

FeCl3 

  

 
 

1) 
 

NaOH, KI, AgNO3 

 
 

2) 
 

O2, HCl, CuO 

 
 

3) 
 

Pb(NO3)2, Cl2, SO2 

 
 

4) 
 

KOH, HCl, Na2CO3 

 
 

5) 
 

H2, HNO3, CO2 

 
 

: 
    

    

 

30 
 

31 
 

32 
 



. 11 .  10302 9

©  2015 2016    
 

 
 
 

 
 

      ,   
   . 

 

 
 

    
 

) 
 

HCOOH  CH3COOH 

 
 

) 
 

CH3NH2  CH4 

 
 

) 
 

CH3COOH  CH3COONa 

 
 

) 
 

C6H6  C6H5CH3 

  

 
 

1) 
 

NaCl 

 
 

2) 
 

NaHCO3 

 
 

3) 
 

 

 
 

4) 
 

KMnO4(H+) 

 
 

5) 
 

KOH( . - ) 

 

 

: 
    

    

 
 
 

 
 

      , 
      . 

 

 
 

     
 

 

) 
 

CH3CH=CH2 + KMnO4( .) 

 
 

) 
 

CH3CH=CH2 + KMnO4(H+) 

 
 

) 
 

CH3C CH + HCl( .) 

 
 

) 
 

C6H5C2H5 + HNO3(H2SO4) 

  

 
 

1) 
 

CH3CH(OH)CH2OH 

 
 

2) 
 

CH3CCl2CH3 

 
 

3) 
 

CH3CH2CHCl2 

 
 

4) 
 

 
 

 

5) 
 

 
 

 

6) 
 

CH3COOH 

 

 

: 
    

    

 

33 
 

34 
 

. 11 .  10302 10

©  2015 2016    
 

 
 
 

 
 

       
  . 

 

 
 

     
 

 

) 
 

CH3CH=O + Br2(H2O) 

 
 

) 
 

CH3CH2COOH + Br2(P ) 

 
 

) 
 

CH3CH2OH + KMnO4(H+) 

 
 

) 
 

CH3COOK + KOH 

  

 
 

1) 
 

BrCH2COOH 

 
 

2) 
 

CH3COOH 

 
 

3) 
 

CH3CH(Br)COOH 

 
 

4) 
 

BrCH2CH2COOH 

 
 

5) 
 

CH4 

 
 

6) 
 

CH3CH2CH=O 

 
 

: 
    

    

 
 2 

 

       (36 40)  -
 .     (36, 37  . .),   –  

 .     . 
 

 
 
 

 
 

   ,   : 
As2O3 + … + H2O = … + NO2 

   . 

 

 

 
 
 

 
 

       
.         
,     .  
       .   
  . 

 

 

 
 
 

 
 

  ,      
 : 

C2H5Br Na  X1 3AlCl , t  X2 Pd, t  X3 2Cl , t  X4 
X4 

2

KOH
H O

 2- -2- -1 

      . 

 

 

35 
 

36 
 

37 
 

38 
 



. 11 .  10302 11

©  2015 2016    
 

 
 
 

 
 

      12   .  -
         

   1,68  ( . .)    .  
  (  %)     . 

 

 

 
 
 

 
 

  28,8        
35,82  .    75%. ,  

        
.    , 

         
  . 

 

 

 

39 
 

40 
 



©  2015 2016    
 

 

    
11  

15  2016   
 10303 
 

: _________________________________  ______ 
 

 
    

 
      3  (180 ).  
   ,    40 . 

 1  35    ,    26  
(1 26)     9  (27 35)   

.          
  (   ).     

     . 
 2  5  (36 40)   , 

  .  
      . 

    ,       
   . 

     ,    .  
   ,     , 

   .        
 ,      . 

       
   . . ;   

,     ;    
 (     ),    

. 
,     , . 

         
 . 

 
 !

 

. 11 .  10303 2

©  2015 2016    
 

 
 1 

 

   1–23     
.        . 

 

 
 
 

 
 

      5 .  
     ? 

 

 
 
 

1) 
 

5 

 

 

2) 
 

7 

 

 

3) 
 

11 

 

 

4) 
 

25 

 

 

:  
 
 
 

 
 

         
 

 

 
 
 

1) 
 

  

 
 

2) 
 

  

 
 

3) 
 

  

 
 

4) 
 

   

 

 

:  
 
 
 

 
 

      

 

 
 
 

1) 
 

 

 

 

3) 
 

 

 
 

2) 
 

 

 

 

4) 
 

 

 

 

:  
 
 
 

 
 

        +3? 

 

 
 
 

1) 
 

Ca(NO2)2 

 

 

2) 
 

POCl3 

 

 

3) 
 

NH4Cl 

 

 

4) 
 

Ca3(PO4)2 

 

 

:  
 
 
 

 
 

      ? 

 

 
 
 

1) 
 

 

 

 

3) 
 

 (I) 

 
 

2) 
 

 (IV) 

 

 

4) 
 

  

 

 

:  

 

1 
 

2 
 

3 
 

4 
 

5 
 



. 11 .  10303 3

©  2015 2016    
 

 
 
 

 
 

      .   
 ,    . 

 

 
 
 

1) 
 

HF 

 

 

4) 
 

C6H5OH 

 
 

2) 
 

NaH 

 

 

5) 
 

HClO4 

 
 

3) 
 

H3PO4 

 

 

6) 
 

PH3 

 

 

:    

 
 
 

 
 

      ? 
A.         . 

.      . 

 

 
 
 

1) 
 

   

 

 

3) 
 

   

 
 

2) 
 

   

 

 

4) 
 

   

 

 

:  

 
 
 

 
 

       ? 

 

 
 
 

1) 
 

SiO2 

 

 

2) 
 

CO 

 

 

3) 
 

N2O 

 

 

4) 
 

Fe2O3 

 

 

:  

 
 
 

 
 

        ,   -
 ? 

 

 
 
 

1) 
 

Si 

 

 

2) 
 

Zn 

 

 

3) 
 

Mg 

 

 

4) 
 

Br2 

 

 

:  

 
 
 

 
 

          
.   

 

 
 
 

1) 
 

Al(NO3)3 

 

 

2) 
 

FeCl3 

 

 

3) 
 

Na2CO3 

 

 

4) 
 

(NH4)2SO4 

 

 

:  

 

6 
 

7 
 

8 
 

9 
 

10 
 

. 11 .  10303 4

©  2015 2016    
 

 
 
 

 
 

  X  Y   : 
Cu X  Cu(NO3)2 Y  Cu(OH)2 

     . 

 

 
 
 

1) 
 

H2O 

 
 

2) 
 

Al(OH)3 

 
 

3) 
 

Ba(OH)2 

 
 

4) 
 

Fe(NO3)2 

 
 

5) 
 

AgNO3 

 

 
 

: X Y 
  

 
 
 

 
 

       sp3-   ? 

 

 
 
 

1) 
 

 

 

 

3) 
 

-2 

 
 

2) 
 

 

 

 

4) 
 

  

 

 

:  
 
 
 

 
 

        
   

 

 
 
 

1) 
 

 

 

 

2) 
 

-1 

 

 

3) 
 

-2 

 

 

4) 
 

 

 

 

:  
 
 
 

 
 

      

 

 
 
 

1) 
 

NH3 

 

 

2) 
 

HCl 

 

 

3) 
 

HNO3 

 

 

4) 
 

CH4 

 

 

:  
 
 
 

 
 

    

 

 
 
 

1) 
 

 

 

 

3) 
 

  

 
 

2) 
 

 

 

 

4) 
 

 

 

 

:  

 

11 
 

12 
 

13 
 

14 
 

15 
 



. 11 .  10303 5

©  2015 2016    
 

 
 
 

 
 

     

 

 
 
 

1) 
 

  H2 

 
 

2) 
 

1,1-   KOH( . - ) 

 
 

3) 
 

  O2 

 
 

4) 
 

  H2SO4( .) 

 

 

:  
 
 
 

 
 

       

 

 
 
 

1) 
 

AlCl3 

 

 

2) 
 

KOH 

 

 

3) 
 

NH3 

 

 

4) 
 

Na2CO3 

 

 

:  
 
 
 

 
 

  X  Y   : 
C6H5CH2CH3 X  C6H5COOK Y  C6H6 

     . 

 

 
 
 

1) 
 

KOH 

 
 

2) 
 

Cu(OH)2 

 
 

3) 
 

KMnO4(H2O) 

 
 

4) 
 

KMnO4(H2SO4) 

 
 

5) 
 

H2 

 

 
 

: X Y 
  

 
 
 

 
 

Cl2      

 

 
 
 

1) 
 

H2 

 

 

2) 
 

Cu 

 

 

3) 
 

HI 

 

 

4) 
 

KOH 

 

 

:  
 
 
 

 
 

        

 

 
 
 

1) 
 

  

 

 

3) 
 

   

 
 

2) 
 

 

 

 

4) 
 

  

 

 

:  

 

16 
 

17 
 

18 
 

19 
 

20 
 

. 11 .  10303 6

©  2015 2016    
 

 
 
 

 
 

   Cu2+ + 2OH– = Cu(OH)2  -
  

 

 
 
 

1) 
 

CuF2  KOH 

 

 

3) 
 

CuS  NaOH 

 
 

2) 
 

CuSO4  Ba(OH)2 

 

 

4) 
 

CuCl2  NH3 

 

 

:  

 
 
 

 
 

     

 

 
 
 

1) 
 

 

 

 

3) 
 

  

 
 

2) 
 

   

 

 

4) 
 

  

 

 

:  

 
 
 

 
 

     ? 
.  –    . 
.    – . 

 

 
 
 

1) 
 

   

 

 

3) 
 

   

 
 

2) 
 

   

 

 

4) 
 

   

 

 

:  

 
 
 

 
 

 300  10 %-      60   
 .      

  .        . 

 

 

 
: ___________________________. 

 
 
 

 
 

   48   (III)   
 256,2  .     

Fe2O3 + 2Al = 2Fe + Al2O3 (     Fe2O3) 
    (      

  ). 

 

 

 
: ___________________________. 

21 
 

22 
 

23 
 

24 
 

25 
 



. 11 .  10303 7

©  2015 2016    
 

 
 
 

 
 

         
 38,0 .    (    . .)   

?      . 

 

 

 
: ___________________________. 

 
 

  27–35       
        

   .     
. 

 

 
 
 

 
 

       -
 ,    . 

 

 
 

     
 

) 
 

SiO2 

 
 

) 
 

K2O 

 
 

) 
 

NH4Cl 

 
 

) 
 

Ca(H2PO4)2 

  

 
 

1) 
 

 

 
 

2) 
 

  

 
 

3) 
 

  

 
 

4) 
 

  

 
 

5) 
 

  

 

 

: 
    

    

 
 
 

 
 

    -  
    - . 

 

 
 

     
 

 

) 
 

NH4NO2  N2 + H2O 

 
 

) 
 

PbS + H2O2  PbSO4 + H2O 
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) 
 

CH4( ) + H2O( )  O( ) + 3H2( ) – Q 

 
 

) 
 

2NO2( )  N2O4( ) + Q 

  

 
 

1) 
 

,  
 

 
 

2) 
 

,  
 

 
 

3) 
 

,  
 

 

 

: 
    

    

 
 
 

 
 

      ,   
    . 

 

 
 

    
 

) 
 

H2S 

 
 

) 
 

NH3 

 
 

) 
 

Al2O3 

 
 

) 
 

FeCl3 

  

 
 

1) 
 

NaOH, KI, AgNO3 

 
 

2) 
 

O2, HCl, CuO 

 
 

3) 
 

Pb(NO3)2, Cl2, SO2 

 
 

4) 
 

KOH, HCl, Na2CO3 

 
 

5) 
 

H2, HNO3, CO2 

 

 

: 
    

    

 

31 
 

32 
 

. 11 .  10303 10

©  2015 2016    
 

 
 
 

 
 

      ,   
   . 

 

 
 

    
 

) 
 

C2H2, C2H4 

 
 

) 
 

C2H4, C2H6 

 
 

) 
 

C3H7OH, C2H5COOH 

 
 

) 
 

CH4, CO2 

  

 
 

1) 
 

NaHCO3 

 
 

2) 
 

Ag2O(NH3) 
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MnO2 + O2 + … = K2MnO4 + … 
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1)   : 
   1 | O2 + 4e  2O–2 
   2 | Mn+4 – 2e  Mn+6 
2)    : 
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 : 

2MnO2 + O2 + 4KOH = 2K2MnO4 + 2H2O 
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1) 2Cr + 3Cl2 = 2CrCl3 
2) 2CrCl3 + 3K2CO3 + 3H2O = 2Cr(OH)3  + 3CO2  + 6KCl 
3) 2Cr(OH)3 + 3H2O2 + 4KOH = 2K2CrO4 + 8H2O 
4) 2K2CrO4 + H2SO4 = K2Cr2O7 + K2SO4 + H2O 
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H SO
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      3,21   .  
        

    1,008  ( . .)    . 
   (  %)     . 

 

 

 
 

 : 
1)   : 
2Al + 3S = Al2S3. 

  ,         
: 

Al2S3 + 6HCl = 2AlCl3 + 3H2S . 
 
2)       : 

(H2S) = 1,008 / 22,4 = 0,045 , 
(Al2S3) = 1/3  0,045 = 0,015 . 

 
3)      : 

(Al) = 2 (Al2S3) = 0,03 , 
m(Al) = 0,03  27 = 0,81 . 
 
4)       : 

(Al) = 0,81 / 3,21  100 % = 25,2 %, 
(S) = 100 % – 25,2 % = 74,8 %. 
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 :  
1)      . 
CnH2n–6 + HNO3  CnH2n–7NO2 + H2O 
 
2)    . 
m (CnH2n–7NO2) = 30,2 / 0,8 = 37,75 , 

(CnH2n–7NO2) = (CnH2n–6), 
26,5 / (14n – 6) = 37,75 / (14n – 7 + 46), 
n = 8. 

  – C8H10. 
 
3)   . 

     ,    
   .    C8H10  

   1,4-  ( - ): 

 
 
4)       : 

CH3

CH3

+ Cl2
h

+ HCl

CH2Cl

CH3  
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   ,   : 
As2O3 + … + H2O = … + NO2 

   . 

 

 

 
 

 : 
1)   : 
 1 | 2As+3 – 4e  2As+5 
 4 | N+5 + e  N+4 
2)    : 

 – HNO3 (N+5),  – As2O3 (As+3). 
3)       : 

As2O3 + 4HNO3 + H2O = 2H3AsO4 + 4NO2 
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 : 
 4  : 

1) 2KMnO4 + 16HCl = 5Cl2  + 2MnCl2 + 2KCl + 8H2O 
2) MnCl2 + 2KOH = Mn(OH)2  + 2KCl 
3) Mn(OH)2 = MnO + H2O  
4) 2MnO + C = 2Mn + CO2  

 
MnO + C = Mn + CO  
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  ,      
 : 

C2H5Br Na  X1 3AlCl , t  X2 Pd, t  X3 2Cl , t  X4 
X4 

2

KOH
H O

 2- -2- -1 

      . 

 

 

 
 

 : 
   ,   : 

1) 2C2H5Br + 2Na  CH3CH2CH2CH3 + 2NaBr 
2) CH3CH2CH2CH3  CH3CH(CH3)CH3 
3) CH3CH(CH3)CH3  CH2=C(CH3)CH3 + H2 
4) CH2=C(CH3)CH3 + Cl2  CH2=C(CH3)CH2Cl + HCl 
5) CH2=C(CH3)CH2Cl + KOH  CH2=C(CH3)CH2OH + KCl 
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 : 
1)   : 
3Ca + 2P = Ca3P2. 

  ,         
: 

Ca3P2 + 6HCl = 3CaCl2 + 2PH3 . 
 

2)       : 
(PH3) = 1,68 / 22,4 = 0,075 , 
(Ca3P2) = 1/2  0,075 = 0,0375 . 

 

3)      : 
(Ca) = 3 (Ca3P2) = 0,1125 , 

m(Ca) = 0,1125 40 = 4,5 . 
 

4)       : 
(Ca) = 4,5 / 12  100 % = 37,5 %, 
(P) = 100 % – 37,5 % = 62,5 %. 
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 :  
 
1)      . 
CnH2n – 6 + Br2  CnH2n – 7Br + HBr 
 
2)    . 
m (CnH2n – 7Br) = 35,82 / 0,75 = 47,76 , 

(CnH2n – 7Br) = (CnH2n – 6), 
28,8 / (14n – 6) = 47,76 / (14n – 7 + 80), 
n = 9. 

  – C9H12. 
 
3)   . 

       ,   
    .  ,     

   .    C9H12  
  1,3,5- : 

 
 
4)       : 
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As2O3 + … + H2O = … + NO2 
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 : 
1)   : 
 1 | 2As+3 – 4e  2As+5 
 4 | N+5 + e  N+4 
2)    : 

 – HNO3 (N+5),  – As2O3 (As+3). 
3)       : 

As2O3 + 4HNO3 + H2O = 2H3AsO4 + 4NO2 
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 : 
 4  : 

1) 2Cr + 3Cl2 = 2CrCl3 
2) 2CrCl3 + 3K2CO3 + 3H2O = 2Cr(OH)3  + 3CO2  + 6KCl 
3) 2Cr(OH)3 + 3H2O2 + 4KOH = 2K2CrO4 + 8H2O 
4) 2K2CrO4 + H2SO4 = K2Cr2O7 + K2SO4 + H2O 
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C2H5Br Na  X1 3AlCl , t  X2 Pd, t  X3 2Cl , t  X4 
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KOH
H O

 2- -2- -1 
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 : 
   ,   : 

1) 2C2H5Br + 2Na  CH3CH2CH2CH3 + 2NaBr 
2) CH3CH2CH2CH3  CH3CH(CH3)CH3 
3) CH3CH(CH3)CH3  CH2=C(CH3)CH3 + H2 
4) CH2=C(CH3)CH3 + Cl2  CH2=C(CH3)CH2Cl + HCl 
5) CH2=C(CH3)CH2Cl + KOH  CH2=C(CH3)CH2OH + KCl 
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 : 
1)   : 
2Al + 3S = Al2S3. 

  ,         
: 

Al2S3 + 6HCl = 2AlCl3 + 3H2S . 
 

2)       : 
(H2S) = 1,008 / 22,4 = 0,045 , 
(Al2S3) = 1/3  0,045 = 0,015 . 

 

3)      : 
(Al) = 2 (Al2S3) = 0,03 , 

m(Al) = 0,03  27 = 0,81 . 
 

4)       : 
(Al) = 0,81 / 3,21  100 % = 25,2 %, 
(S) = 100 % – 25,2 % = 74,8 %. 
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1)      . 
CnH2n – 6 + Br2  CnH2n – 7Br + HBr 
 
2)    . 
m (CnH2n – 7Br) = 35,82 / 0,75 = 47,76 , 

(CnH2n – 7Br) = (CnH2n – 6), 
28,8 / (14n – 6) = 47,76 / (14n – 7 + 80), 
n = 9. 

  – C9H12. 
 
3)   . 
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   ,   : 
MnO2 + O2 + … = K2MnO4 + … 

   . 

 

 

 
 

 : 
1)   : 
   1 | O2 + 4e  2O–2 
   2 | Mn+4 – 2e  Mn+6 
2)    : 

 – O2 (O0),  – MnO2 (Mn+4). 
3)        
 : 

2MnO2 + O2 + 4KOH = 2K2MnO4 + 2H2O 
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 4  : 

1) 2KMnO4 + 16HCl = 5Cl2  + 2MnCl2 + 2KCl + 8H2O 
2) MnCl2 + 2KOH = Mn(OH)2  + 2KCl 
3) Mn(OH)2 = MnO + H2O  
4) 2MnO + C = 2Mn + CO2  

 
MnO + C = Mn + CO  
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 HBr  X1 KCN  X2 2H O, HCl  X3 2 5

2 4

C H OH
H SO

 X4  

X4  2-   
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 : 
   ,   : 

1) CH3CH=CH2 + HBr  CH3CH(Br)CH3 
2) CH3CH(Br)CH3 + KCN  CH3CH(CN)CH3 + KBr 
3) CH3CH(CN)CH3 + 2H2O + HCl  CH3CH(CH3)COOH + NH4Cl 
4) CH3CH(CH3)COOH + C2H5OH  CH3CH(CH3)COOC2H5 + H2O 
5) CH3CH(CH3)COOC2H5 + KOH  CH3CH(CH3)COOK + C2H5OH 
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1)   : 
3Ca + 2P = Ca3P2. 

  ,         
: 

Ca3P2 + 6HCl = 3CaCl2 + 2PH3 . 
 

2)       : 
(PH3) = 1,68 / 22,4 = 0,075 , 
(Ca3P2) = 1/2  0,075 = 0,0375 . 

 

3)      : 
(Ca) = 3 (Ca3P2) = 0,1125 , 

m(Ca) = 0,1125 40 = 4,5 . 
 

4)       : 
(Ca) = 4,5 / 12  100 % = 37,5 %, 
(P) = 100 % – 37,5 % = 62,5 %. 
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CnH2n–6 + HNO3  CnH2n–7NO2 + H2O 
 
2)    . 
m (CnH2n–7NO2) = 30,2 / 0,8 = 37,75 , 

(CnH2n–7NO2) = (CnH2n–6), 
26,5 / (14n – 6) = 37,75 / (14n – 7 + 46), 
n = 8. 

  – C8H10. 
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